1B0616K22 (DAY-1, FIRST SESSION)

Do I T380H
xodey Ao e T D AoZ,

B td 10.30 oocd 11.50 &= D-3

0223b 7

__

OI0 | w0 QO rnog, LAy, Al d7als Ho&, 00, (afefeeM]e)
nox edo woynyy | ENAW

80 A2EO| 70 oA 60 60 NUGE | F || 2|8 |2

Ta

l. 8250 edimoroes w TP, Sddanrm, amd d. 1030 wS FOIT dRdTIACIZ

2. 8 Dram LTH Todolmy, L.lowct wyg Iidang wood uCd FoLCQAC TINVE, TOZARFE
®LozQdom mmazandaq,

). T Do SuAE dar e, Looww, was aeng pdd ¢ =e, RCLCOLS HINVD, XOTAMFIN BOUED.

4 T2, oMom Darw A W ES redenm, misno AT Iugd ndonn.

s, Loowro. w¥c J3fon dveeno 0¥ mnog Sanr b mu"ru.

snoded .
I Looer. toEd Tidod) SROSRADY Yo SeeFd, IGHUD / HmOSRICID / $eXmoR.
. S/wacHt oo . 1040 ¢ vyl edokodna,
o TY T :.:,f-r{-*Qc:-' Lo ey Fhchmo.
o T2 Tadon Lend wom ZEhvE, ::...:d-.::s Zemizmoc: &% L.oowst. wwIo Sifox)
SifogEImoc,
v orred SN, ragdnv

I T2aeg nead SIGNSAND SYMBOLS nvi, e Drdohg Xevs Boo®m, in0¥ IGTMTICYR 48
SonndRoem

2. Tz, Tideng b 60 TZrCSy, ) DR 4 nIn el evEonw tDIE I3 ZZon dvd dadtem =g
DX wSlINn WICAVY IOLME LoD wETEEy med: =Ra.

). maaod 2o wozd 2. 10400 wo¥c IZ, sifen numnAoQosT Aeot dAz: w T2, Sddony osmde
Soune SNOYTIAPCe TCID Fomk LoD ¢S T0D XAhg g UTS citade Suenw :LLL‘f_ttn::JQ
ooz, Juyzandzom, o Ded wASC I Jidonm, pomoll AN mo¥T  L.oswT. wIT
Tafony LiEOXLT SMUCCRIRD

4, TZ, Tifongm T2 wmanmioiS X0 wIgImy L.oowd. iIT Sifong wdr oy XoXod Swod
fACT TonofAT T YIRS, ned wITT eI focioR oot Seekol 2rieT Zodanr Howmpe

2OURT 4, %mﬁw WRONG METHODS
CORRECT METHOD @@@@ @@@@, @..@
COOOPP®OD® ®O®O®

5. & Locer. I ST W,F SRBE ® AT !-JIG' Ay SNy X ey, ¥ SRonyd.
50T Locer, IC Zifolg wItmmA oyod ¥

6. TZ Tdong daveT mmg mnsin OF fuxd r.*.-:af..::m.. L..ac:.u:". £oE0 S0, od wexolaridd,

7. fafon g vezd g, 1150 vZ moxT wEdTiOMm, k.

. Locer. wit T3fcnm, 4500 Dedingron oTmAICDHY R:A0,

9. fava Sgimorcs iemc mvon , T (vded TB) I, DrOP TNERCID IVLOOR ORTTTIONM
(egorox ) eglrned dammd

roug: rmg wIdcn TLnVg crremE gl fRaog Sxo¥ymany TBAv vl omods XodeIdR
Tofez eglon gg:g-.':.:.:r' Astanmm. DmAgs &y vomuody ..crm... 9T o0, YOIl SO
SonroieRg e
il [l o-3

collegedunias

India’s largest Student Review Platform



N4

N

10,

BIQLOGY

Example for Non-Mendclian disorder

(A) Thalassemia (B) Cystic fibrosis (D) Down's syndrome

(C) Haemophilia
Gynecomastia is a symplom of
(A) Turner’s syndrome

(B) Cni-du<chat syndrome
(C) Down’s syndrome

(D) Kline Felter's syndrome

The affected male in the pedigree charnt is symbolized by :
« I ® @ ©

The piven diagram represents :
H1 Histone

> R

mO

(A) Nucleosome (B) Mesosome (C) Chromosome (D) Ribosome
Which of the following hormones is not secreted by human placenta 7
(A) Progestogen (B) FSH (C) hCG (D) Relaxin
Which of the following is correcily maiched 2

(A) Bulbil- Agave
(C) Conidia- Hydra

(B) Spores - Sponge
(D) Gemmules - Amocba

The technique advised by a doctor to overcome the problem of infertility :
(A) RCH (B) RTI (C) MTP (D) ART

Amniocenlesis is a process to
(A) To grow cell on culture medium

(B) Determine the sex of the foctus
(C) Determine any disease of heant

(D) Know about the discase of brain

The lirst human like being is

(A) Homo sapiens  (B) Homo menthus (C) Homo erectus (D) Homo habilis

XO type of sex determination and XY type of sex determination are the examples of
(A) Male Homogamety (B) Female Homogamety
(C) Male Heterogamety (D) Female Heterogamety

i
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eroids in females

(C) Lass of memady () Hallucination

One of the side-clTect of the use of zmabolic 4
(A) Curhosts of liver (B) Masulinisation

Which onc of the following it 2 opiate narcotics 7

(A) Amphatamines (B) 1LsSD (C) Rarbaturaled (D) Marphine

The large holes in *Swiss —Cheese” are made by 3
(A) Bactenum producing a large amount of CO,
(B) Fungus that relcases 3 lot of pases during metabolic activitics

(C) Machine
(D) Bacterium that produces methane gas

Which vitamin is increased by "LAB" in cwrd ? L.
(A) Viamin B, (B) Vitamin E (C) Vitamin C (D) Vitamin B
Enzyme which is useful to remove the oily stains in laundry 7
(A) Amylasc (B) Lipass (C) Renin (D) Protease
DNA replicates semiconservatively was first shown in:

(B) Higher animals  (C) Esherichia coll (D) Human cell

(A) Plants

A series of experiments were conducted by Freden
principle with ;

(A) Salmonella nphimurium
(C) Escherichia coli

(B) Strepiococcus peumoniac
(D) Bacillus thuringiensis

The number of codons ¢ffective in coding twenty amino acids :
(A) 6= (B) 20 (C) 61 (D) 32
Which aspect forms the basis of DNA finger-printing ?

(A) The Satellite DNA showing high degree of repetition in DNA segments.
(B) The amount of DNA found in samples of blood, saliva and skin.

(C) The ratio of purines and pyrimidines present in DNA.

(D) The Sequence of DNA present in the ridges and grooves of finger-prints.

malarial parasite :
(B) Plasmodium ovale
(D) Plasmodum malariae

Identify the most infectious and fatal 1ype of

(A) Plasmodium falciparum
(C) Plasmodium vivac

The type of antibodies produced during the sllergic reaction

(A) 156G (B) IgM ©€) lgA (D) IgE

sk Gaffith in 1928, on transforming
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22.  ADA deficiency can be cured by
(A) Kidney Transplantation
(C) Bonc-marrow Transplantation

pL R

25,

/i.l’..wﬂlnn o

Average natality ratc in our village is 25, 3%
emigratioa 3 and the net increase tn population i3 ©

(B) Heart ....EE.FEE?:
(D) Liver Transplantation

s, average morality is

(A) 10 @) 27 (©) 0 () $
The term “Molecular Scisson™ refers 10
(A) Restriction enryme (B) Tag polymerase
(C) Polymerase-I (D) Polymerase-1l.
What does the sample of given base sequence represent ?
§' ~GAATTC-3'
3 -CTTAAG-¢
(A) Completion of replication (B) Palindromic sequence
(C) Initiator codon a1 5" end (D) Deletion mutation

Gel electrophoresis is used for

(A) Scparation of DNA fragments according to their size.

(B) Cutting of DNA into fragments.

(C) Censtruction of recombinant DNA by joining with cloning vectors,
(D) lsolztion of DNA molecule.

An antibiobic resistance gene in a vector usually helps in the selection of
(A) Non-recombinant cells (B) Non-competent cells

(C) Competent cells

(D) Transformed cells

24, immigration 2 and

Silencing of specific mRNA in RNAi is by

(A) ssDNA (B) dsDNA

(C) SSRNA (D) dsRNA

Cry-1AC efTectively controls,

(A) Root nemateds  (B) Ring worm (C) Cotton bollworms (D) Com borer
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30. Particulates of _ $irc posc grealet risk to human health.
(A) Lessthan 3.5 micrometers in diameter
(B) Less than 7.5 micrometers in diameter
(C) Less than 2.8 micrometers in diameter
(D) Less than 4.5 micrometers in diameter
31, Maintenance of constant internal environmeny is called as
A) Thermoregulati B i
( gulation (B) Osmorcgulation (C) Metastasis (D) Homeostasis
32, The animals which are active duning day time -
(A) Vesporl B) C ~
o (B) Cresporal (C) Diumal (D) Auroral
i, :.f_.nr.o_;:.n following statement is incorrect related 10 biomes ?
(A) High temperature and minimum n..i_.._: help 1o form grasslands.
(B) Low temperature and less rainfall is & characteristics of Tundra biomes
(C) a_.n:n"_c,a in temperature and mean precipitation accounts for the major biomes.
(D) More rainfall and low temperature is the characteristics of deserts,
34. The amount of Photosynthetically active radiation captured by plants is
(A) 60—70 percent (B) 12-20 percent
(C) 20- 30 percent (D) 2-10 percent
38 The given graph represents
ﬁ ﬁ S=Ca*
o
£
=
<
.-
.m
' —
ArcaA — . . .
(A) Population growth (B) Specics area relationship
(C) Enzyme activity (D) Growth of organisms
36. Cuscuta is an example of

(B) Predation

(A) Ectoparasitism
(D) Endoparasitism

(C) Broad Parasitism

Space For Rough Work

10.

3L

M3, T URCAL 97 2oy
% VIO S g =
_— ST s A c:nﬁm.uﬂq IR VAL Shaegs.

EALIEYIVIT R T2
(A) 3 Y3 : A (B) 1.5 24a e moyrtrcy aas
2.5 45 eneLs vy ; "
(C) 2.5 Zydae N 10 (D) 45 282 eionut mmtney gact

- - n.._|.._....__$-
“ur.__.l__f._ [Tlexfopretel o] = ﬂtl.\-nmaum.ﬂz _“._\!Hﬁu.cu fo)

5%

(A) o&u..rvpﬂu.@ﬂ (B) 2exo S ennen (©) mReIc (D) =13
2, Tndn S LEIRBCTRADT Syeined ket
2 33
(A) S35 (B) g25ee (C) aztzmre (D) =2arz=
33, wedaam (Biome) el Zenedrsed cnm Eicd IS 7
(A) Ty, Lo X TMERT, RIS D RResie R & SRrES.
(B) t2¥0D RITRE X TIRE, Yoo ¥o, Wt e LIRS,
(C) HTAT X TV U5 10T eRCT e A MRS A SRASTE.
(D) gy, = e 92k LT SO, TRODCIR S SRR TR — =3
. ﬂ__nnu AeLaceE ooy zegramy COMMERmO CATRE SERR
— i —
(A) 2excd 60 - 70 T3 (B) Zeead 12-20T, (C) 2ee20-30 =3 (D) Zeea2- 10
— -, i~ ;I‘U
35, 4 CerRiie ) SRR ALRLER
3
ﬂ S=CA?
v
)
c
E-
-
L
4
=
H 1 —
Arcah —* — st
P el Rl e =
(A) =mxead, tvann (B) S¥= L.n.l..“.ﬂ
[l daigt ol ey Tl
(C) 4r3piv oo (D) 2=n¥
— et ) o = pf ]
36, SELRVIRT canmgey, peemxord N it
R et e A -
_ns.fu n_tc(.-un -lqu((.l.?__ au ﬂu&ﬂm nﬂu\.nul.—d
(C) xomby osvend :
Space For Rough Work

13
8

as
form

o
|
at

gcollegedun



>

37.  Cell theory was formulated by
(A) Schleiden and Robent Brown
(C) Schleiden and Schwann

(B) Schwann and Robent Brown
(D) Robert Hook and Rodert Brown

38. The type of Polysacchande present in a cotton fibee
(A) Cellulose () Glycogen (C) Suarch (D) Insulin
39. Ennme involved in crossing over

(A) Endonuclease (B) Lygasc (D) Polymerase

(C) Recombinase

40. Kranz anatomy can be soen in

(A) Pea (B) Maize (C) Tomato (D) Potato
41.  Respiratory quoticni of glucosc is
(A) 0y (B) 1.0 (<) 0 (D) 0.7

A person suddenly stants coughing while swallowing food. This coughing would have been

4%

duc to improper movement of

(A) Neck (B) Tonguc (C) Epiglotus (D) Diaphragm
43. Binomial nomenclature is introduced by

(A) Bentham and Hooker (B) John Ray

(C) Carolus Linnacus (D) Lamarck
44. Bovine spongiform encephalopathy 1s causcd by

(B) Fungi (C) Viroids (D) Prions

(A) Virus

45, Phycoerythnn and Floridean starch is found in
(A) Brownalgac (B) Red algac (C) Bluc — green algac (D) Green algae

46, DifTerem types of respirstory organs like gills, book gills, book lungs and trachea arc

present in
(A) Arthropods (B) Annclids (C) Sponges (D) Molluscs
47.  Which of the following plant is used 10 extract Oo_n:.nw:a....v
(A) Asparagus (B) Tulip (C) Colchicum (D) Aloe
48. Rows of S-shaped sctac in the body of earthworm are present in all the segments, except
(B) the first segment

(A) the first, last and clitellum

(C) the last segment (D) the first and last scgment
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The ovule of angiosperm b technically known at
(A) Mepaspore mother cell (B) Megaspore
(C) Megasporangium (D) ,.:nm.:?x.:_..:w__

Typical mature embryosac of angrosperm is
(A) 7 nucleated B celled structure
(C) 8 nucleated § celled structure

(B) § nucleated 1 celled structure
(D) § nucleated 7 celled structure

Onc of the 2000 years old visble seed. discovered during the archeological excavation g
King Herold's near dead sea.
(A) Maire

(C) Sunflower

(B) Lupin
(D) Phoenin dactylifera

The testis are situated outside the abdominal cavity in scortum as it helps to
(A) Maiatain the low temperature (B) Regulates harmone sextetion
(C) Store sperm (D) Release sperm

Identify the odd oac from the following :

(A) Infendibulum (B) Isthamus (D) Labia minom

(C) Fimbriae

In which month of gestation, the fint movements of foctus and appearance of hair on its
head 15 observed ?

(A) £* month (B) £ month (C) 1" moath (D) 4® month
The most abundant type of WBC cells
(A) Eosmophils (B) Monocyies (C) Basophils (D) Neutrophils

Filtration of blood during urine formation takes place in
(A) Collecting duct  (B) Glomerulus (C) DCT (D) PCT
Corpus Callosum conncets the
(A) Cerebrum and cerebellum
(C) Two lobes of cerebellum

(B) Spinal cord with the brain
(D) Two cerebral hemispheres

Menstrual cycle is exhibited by :

(A) Apes (B) Tiger (C) Cow (D) Rat
An example of dioecious plant :

(A) Mango (B) Papaya (C) Cucurbita (D) Coconut
Stalk of the Stamen is ;

(A) Petiole (B) Peduncle (C) Filament (D) Pedizel

2

n.a
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